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W3=_1.17
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W2=1.050
WERHET ___0.100 %

7'y
0.216 [0.416
v

0.100 v Y

15 H=

«W1=_0.80 ,|

ER#E

SHLEEVIEL :0.47m

#EEl - 0.am

LERBE®E : 0.04m-=0.1m=0.4m
TR : 0.10m-+0.25m=0.4m
HETHERERL : 0.01m

1. 56

No. 508-1-1 ~ No. 508-1-2

RiRIER 11.30 m
EBRER 10.57 m

AsEHEUIBTT Lx1 (GERRIGE CHRAIDT-0)
11.30x1 =

BERELT 7AT7J)L M0cmiz  (W7+W6) /2 % L
(1.736+1.712) /2x11.30 -0.47x11.30 =

ST 7RI 7ILM10cmiz ax0.04
14 2><O 04 =

#EHIT H%E BH 0.28
(0. 80+1.712) /2 x (1.56-0.04) x11.30-0. 1 x 11. 3(

(0. 80+1 050) /2% 0.416-0.216"2xPI/4x10.57 =

HAELTHERET (& _E£10cm~30cm)
(1.050+1.170) /2x0.20x 10.57 =

BRI FHET
(1.170+1.502) /2 x 0. 554 x 11.30-0. 01%11. 3 =

BtnT
20.4-(2.3+8.3)/0.9 =

LERREET (W6+W5) /2 xL
(1.712+1.652) /2 x11.30-0.4x11.3

TRERIET W5+W4) /2xL
(1.652+1.502) /2x11.30-0.4x11.3

11.30 m

14.2 m

0.6 m

20.4 m

3.7 m

2.3 m

8.3 m

8.6 m

14.5m

13.3m
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o
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©
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ERT

___0.100 %
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0.216
I 4
0.100 v

0.04% ERIER

Tiy He
1.6

«W1=_0.80 ,|

ZERHME

SHEEUERL :0.47m

EEl - 0.1m

LEKRHE - 0.04m-=+0.1m=0.4m
TREKHE : 0.10m=0.25m=0.4m
FAETHERL : 0.01m

1-2 ~ No. 508-1-3

27.00 m
26.46 m

AsEHEDIBTT Lx1 (GERRIGE CHRAIDT-0)
27.00x1 =

SERELT 7XZ77J)L M10cmiz
(1. 760+1.736) /2 x 27.00-0. 47 x 27.00 =

BMAST 7RI 7ILM10cmiz ax0.04
34 5><O 04 =

EEIT Hs¥E BH 0.28
(0. 80+1. 736) /2 x (1. 60-0. 04) x 27.00-0. 1 x 27. O
EMET

(0. 80+1.050) /2% 0.416-0. 216”2 xPI /4 x 26. 46 =

HAELTHERET (& _E£10cm~30cm)
(1.050+1.170) /2x0.20x 26. 46 =

BRI HEL
(1.170+1.526) /2 x 0. 594 x 27. 00-0. 01 x 27. 00 =

BtnT
50.7-(5.9+21.3)/0.9 =

LERREET (W6+W5) /2 xL
(1.736+1.676) /2% 27.00-0.4x27.00 =

TRERIET W5+W4) /2xL
(1.676+1.526) /2x27.00-0.4x27.00 =

(W7+W6) /2 x L

27.00 m

34.5m

1.4m

50.7 m

9.2 m

59 m

2.3 m

20.5 m

35.3 m

32.4m
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No. 508-1-3 ~ No. 508-2-1

W7=1.814 BEIER 25.00 m
\ w6=1. 790 As / 0.04% EMER 24. 46 m
X L EERAZ M25 / “010
| wh= 1.73 v AsSHEYIBT Lx1 (GERIFEE CIEEID-5)
\I TR RC40~0 / %0 25 25.00x1 = 25.00 m
wi= 1.58 v
* SEEE LT 7RI 7L M0cmE  WT+W6) /2 xL
= HETIHRL it 0. 684 |19 H= (1.814+1.790) /2 x 25. 00-0. 47 x 25. 00 = 33.3m
o o - 1.69
W3= 1.17 v BMST 7RI 7IL L10cmiz ax0.04
\ ZETIRL / ) 33 3><o 04 = 1.3 m
(%& £ 10cm~ 30cm) l 0.20
W2= 1. 050 v BT HeFE BH 0.28
MEMT _‘ro. 100 4 (0. 80+1. 790) /2 x (1. 69-0. 04) x 25.00-0. 1 x 25. O 50.9 m
_“0. 216 | 0.416 PhEET
0.100 v v (0. 80+1. 050) /2 x 0. 416-0. 216" 2 x P1/4 x 24. 46 = 8.5 m

T FHETHRT (B _L£10cm~30cm)
Wi=_ 0.80 (1.050+1.170) /2% 0.20 % 24. 46 = 54 m

BRI HEL

(1. 170+1.580) /2 x 0. 684 x 25. 00-0. 01 x 25. 00 = 21 m
v ErasT
SELEENIEL . 0.47 7
ﬁ;}ﬁ :Eo.lmz m 50. 9- (5. 4+21.0) /0.9 = 21.6 m
J:J%E%ﬂ&: : o.o4m:fo.1m=o.4m LERRAET (W6+W5) /2 x L
TRHBE : 010m-+0.25m=0.4m (1.790+1. 730) /2 x 25. 00-0. 4 X 25. 00 = 34.0 m
FETEEREL : 0.01m

TRERIET W5+W4) /2xL
(1.730+1.580) /2x25.00-0.4x25.00 = N.4m
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Wi= 1.82
\ w6=1.796 As / 0.044
y L EERAZ M25 / 4 0.10
| wb= 1. 736 '
\I T Ei&iE RC40~0 / 0 95
wi= 1. 586 v
A
W3= 1.17 v
\ ZETIHRL / 4
(%& £ 10cm~30cm) l 0.20
W2= 1. 050 \ 4
MERT _A_O. 100 4
vO. 216 [ 0.416
0.100 v Y

«W1=_0.80 ,|

No.508-2-1 ~ &ESR (KRR BERD

RIRIER 23.40 m
EBRER 23.06 m

AsEEUIBTT Lx1 (GERRIGE CIRAIDT-0)
23.40%x1 =

BERELT 7XAT7J)L M0cmiz  (W7+W6) /2 % L

(1.820+1.796) /2 x 23. 40-0. 24 x 23. 40 =
1.7
BMAST 7RI 7ILM10cmiz ax0.04
36 7><O 04 =

#EHIT ¥ BH 0.28
(0.80+1.796) /2 x (1.70-0. 04) x 23.40-0. 05 23.40 =

(0. 80+1 050) /2x0.416-0.216"2 xPI/4 x 23. 06

HAELTHERET (& _E£10cm~30cm)
(1.050+1.170) /2x0.20x 23.06 =

BRI HEL
(1.170+1.586) /2 x 0. 694 x 23. 40-0. 005 x 23. 40

ZRRME (REIRIMTKEINBENS-HRIRED1/2LF 5)
SR EIEL:0.47m+2=0.24m
#EEl - 0.1m-=+2=0.05m
EREREME : 0.04m=0.1m=+2=0.2m
TREKE : 0.10m=0.25m=2=0.2m
EAETHEREL : 0.005m

BtnT
49.2-(5.1+22.3)/0.9 =

LERREET (W6+W5) /2 xL
(1.796+1.736) /2% 23.40-0.2x23.40 =

TREBT W5+W4)/2xL

(1.736+1.586) /2 x 23.40-0.2x23.40 =

23.40 m

36.7m

1.5m

49.2 m

8.0 m

51 m

22.3 m

18.8 m

36.6 m

34.2 m



Wi= 1.82
w6=1.796 As / 0.044
\ L EERAZ M25 / 4 0.10
wb= 1. 736 '
\ TREERAE RC40~0 / 0. 95
wi= 1. 586 v
A
W3= 1.17 v
\ ZETIHRL / 4
(%& £ 10cm~30cm) l 0.20
W2= 1. 050 \ 4
MERT _A_O. 100 4
vO. 216 [ 0.416
0.100 v v
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1.7

HER

BRHRIE R
ERER

(KBS EER) ~ HER (BERR)

6.80 m
6.80 m
AsEEEYIMT Lx1 GERRIGZE CTHIRAID=®)
6.80x1+1.1 = 7.90 m
SERIELT 7X77J)L M0cmz  W7+W6) /2 x L- (RERIEEFR)
(1.820+1.796) /2 x 6. 80-2. 35 = 9.9 m
BT FAIT7IL M0cmiz ax0.04
9 9><0 04 = 0.4m
EEIT ¥FE BH 0.28
(0. 80+1.796) /2 x (1.70-0.04) x6.80 = 4.7 m
EBET
(0. 80+1. 050) /2 x 0. 416-0. 216”2 xP1/4x 6. 80 = 2.4m
HEETHRT (& _E10cm~30cm)
(1.050+1.170) /2% 0.20x 6. 80 = 1.5m
BRI FEET
(1.170+1.586) /2x0.694x6.80 = 6.5m
EBrusnT
14.7-(1.5+6.5) /0.9 = 5.8 m

FEB®RET W6+W5)/2xL
(1.796+1.736) /2% 6.80 = 12.0m

TRERIET W5+W4) /2xL
(1.736+1.586) /2% 6.80 = 1.3 m
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= |t R|T R # uk

= & |L®|Tw| | ER HxL | ER HxL | ER HxL | ER HxL | ER HxL | Ef HxL | Ef HxL | Ef HxL | Ef HxL | Ef HxL (% 1

No. No. No. m m m X |HFF|EFR| @ m m m m m m m m m m m m m m m m m m m m
508-1 |508-1-1|508-1-2 11.30| 0.65 1065 2.66 (1.56)
508-1 |508-1-2|508-1-3|  27.00| 0.54 26.46( 6.62 (1.60)

-] T EW A T B B vy
= ARE O =i Aty

508-1 |508-1-3| 508-2-1 25.00( 054 24.46( 6.12 (1.69)
508-2 |508-2-1| SHER 30.20( 0.34 2086( 7.47 (1.70)
508-2 | SR | 508-3-1 130 045 085 021 1 1.30 2.18 (1.68)
508-3 |508-3-1|508-3-2 340 0.90 250 063 1 1 3.40 9.18 (2.70)
508-3 |508-3-2| 510-1 6.80| 0.90 590 1.48| 1 1 6.80 19.92 (2.93)

& £ E

B 1.68 2.85

105.00| 432 10068 2519 2| 3 1.30 2.18 10.20 29.10




(REHEFE)

FHSEE #AREFABRRARNEEERRRAXATAEERERIE(1IR)

BTE7 R 77 IV BT & £ EEREIR
B xBI® @+t BT BBRAIBSBIXEIM Bt Blremsi|T BRAUGEREBEI|L BT BREIRBIEZBRIL BT BRBIH =5 =2 ASEREIR Asi&
w | ARES % " & BAEH
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j 2 [I=] 1
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z E IE B 1 7 As20 | M25-0 | M25—0 |RC40—0|RC40—0[RC40—0| As20 As20 | M25—0 | M25—0 [ RC40—0|RC40—0| As20 | M40—0 [RC40—0|RC40—0|RC40—0| As20 | M40—0 |RC40—0|RCA40—0| «s-oss27 117: ASHH(AS B (AS T E|AS S &
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[} t=4cm t=3em | t=10cm | t=25¢m | t=35cm | t=35¢cm | t=4cm t=4cm | t=10cm | t=15cm | t=25cm | t=35¢cm | t=5cm | t=20cm | t=25cm | t=35¢cm | t=35cm | t=5cm | t=20cm | t=25cm | t=35cm | t=8cm | t<20cm t']? cm t"? cm t‘]?z cm t‘]iz em
52 A sz i
No. No. No. m m m m m m m m m3 m3 m m m m m m3 m m m m3 m3 m m m m3 m m m m m3 m3
508-1| 508-1-1 | 508-1-2 1130 174|081 255 2838 145 145 134 145 06 By
508-1| 508-1-2 | 508-1-3 2700 176 077 253 68.3 335 353 324 335 13 By
5081/ 508-1-3 | 508-2-1 2500 181 067 248 62.0 285 340 314 285 1.1 By
508-2| 508-2-1| SHER 3020 1.82| 168 350 8238 38.1 486 455 38.1 15 1)
508-2| FER | 508-3-1 130[ 095 0.95 12 12 &
508-3 | 508-3-1 | 508-3-2 340 095 0.95 32 32 E
508-3| 508-3-2| 510-1 680 095 0.95 65 65 E
ZE
s ERE)| 105.00 2419 1146 1324 1227 109 109 1146 45




(L=300m)
1) BEEH
1.8 £ 200mm 2. & & BEE 3. BIER
4. {EAIAE BH-0.28 5. {EHIME 0.95m 6. HEHIR
7.+ H (FEtEE - LEFELCY L) 8. HRYIEER
9. FIUV U L—RE 49 t/mY

BHEHRML 1.30mHY

2) HETRsRE

1. EHIREOEE D1) =(LxWxH) + @ (G#HP15)

(D1) = (2.85 — 1.00) m x 0.95m x 10.20 m =+ 59.00 m3/8 =

2. BAHBBLBEAHFREOFEE (D2) (4P38)

D2) = (0.27 ~ 10.00m) x 10.20 m =

WEI TS5 B % D+©@
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